
Subject: Re: Alignment of vcal_1 and vcal_2 codes in the data
Posted by Liz-DHS on Thu, 15 Oct 2015 19:15:00 GMT
View Forum Message <> Reply to Message

Dear User,
Here is a response from Senior Data Processing expert, Mr. Guillermo Rojas,
Quote:To identify discontinuations in column 2, users need to start from the last row (position 80)
in column 1 and keep looking up until they found that a method changed.  In the same position in
column 2 of the last month of use there should be a code indicating the reason for discontinuation.
 To illustrate the problem let me put columns 1 and 2 aligned on top of each other. 
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Quote: In the example above the respondent started using method L in position 76 (5th month
from the bottom of the calendar) in column 1. The respondent used the method for 14 months and
changed to method 9, she gave code 8 as the reason for discontinuation.  In position 63 (which
corresponds to the last month of use of method L), the discontinuation code is recorded in column
2.  The respondent then used method 9 for two months and discontinued for reason 2, and so on.

Users need to be aware that chronologically the first month of the calendar correspond to the last
position in column 1.  Or to put in another way, position 80 of column 1 correspond to the first
month where calendar data is collected.  That first position correspond to the CMC code given by
variable V017.

If you have additional questions, please feel free to post again.  Thank you!
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